	Mathematics                              End Term 1
                                                             40 mins

35 marks                                                2-4-08




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.2, N5.3, N6.2, N6.3



10 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


8.1









ii)


3.41









iii)


2.8










iv)

4.2 ÷ 3









+
3.6
 










−
1.63













x0.4















v)

–2 – –5






vii)

4x−6









viii)

−12÷3

















b)

Copy and complete the following table.  Place a tick in the appropriate column or columns




in which each number belongs.

	
	Number
	Natural number
	Integer
	Rational number
	Irrational number

	i)
	−2
	
	
	
	

	ii)
	[image: image1.wmf]2

1


	
	
	
	

	iii)
	[image: image2.wmf]3


	
	
	
	


Question 2 (N5.1, N5.3, N6.1, N DB6.3



8 marks - 1 each)

a)

Add GST (10%) to the price of a pair of jeans @ $38.90

b)

What is the new price of a $550 guitar discounted by 15%?

c)

Find the simple interest charged: $2 500 at 5.3% pa for 6 years

d)

$65 800 is invested at 5.9% pa compounded yearly.  What will be




the principal after 10 years (round to the nearest dollar)?

e)

Simplify and express in index form:





i)
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iv)
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Question 3 (PA6.2, PA6.1



11 marks)

a)

Simplify the following expressions:





i)

4b − 9b







ii)

7 x −4p








iii)

−5 x −8d





  iv)

30fg ÷ −6f







(1 each)
b)

Expand, and simplify if possible, each of the following:





i)

8(m + 3)
























ii)

−8w(6 − 2d)

























(1 each)
c)

Solve each of the following equations:





i)

5p + 4 = 16









ii)

(n – 8) ÷ 3 = 7






 iii)

2(x – 4) + 3x 
= 8







(1 each)

d)
The volume of a cylinder, V, is given by the formula:




V = πr2h, where r is the radius of the base of the



cylinder and h is the height of the cylinder.  If a cylinder



with a base radius of 1.3 cm has a volume of 34 cm3,





what is the height of the cylinder?











































(2 marks)
Question 4 (M6.1



6 marks)

a)
Find the unknowns in each of the following right-angled triangles:





i)
























ii)























iii)

















































































(1,1,2)



b)

An aircraft flies from town A  76 km due east to town B,
and then 59 km due north



to town C.  How far apart are towns A and C?

































(2)
oooooOOOooooo

	Mathematics                              End Term 1

                                                             40 mins

35 marks                                                2-4-08




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.2, N5.3, N6.2, N6.3



10 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


6.3









ii)


5.37









iii)


3.8










iv)

7.2 ÷ 3









+
4.6
 










−
2.18













x0.4















v)

–4 – –2






vii)

−5x7









viii)

−18÷2

















b)

Copy and complete the following table.  Place a tick in the appropriate column or columns




in which each number belongs.

	
	Number
	Natural number
	Integer
	Rational number
	Irrational number

	i)
	−6
	
	
	
	

	ii)
	¾
	
	
	
	

	iii)
	√7
	
	
	
	


Question 2 (N5.1, N5.3, N6.1, N DB6.3



8 marks - 1 each)

a)

Add GST (10%) to the price of a DVD player @ $62.50

b)

What is the new price of a $845 washing machine discounted by 20%?

c)

Find the simple interest charged: $5 200 at 4.7% pa for 6 years

d)

$74 900 is invested at 6.1% pa compounded yearly.  What will be




the principal after 7 years (round to the nearest dollar)?

e)

Simplify and express in index form:





i)
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Question 3 (PA6.2, PA6.1



11 marks)

a)

Simplify the following expressions:





i)

5d − 7d







ii)

5 x −2f








iii)

−4 x −7t





  iv)

−24fg ÷ 6g







(1 each)
b)

Expand, and simplify if possible, each of the following:





i)

4(a + 2)























ii)

−2n(7 − 3b)

























(1 each)
c)

Solve each of the following equations:





i)

4a + 5 = 19









ii)

(b – 5) ÷ 2 = 6






 iii)

3(x – 5) + 2x 
= 1






(1 each)

d)
The volume of a cylinder, V, is given by the formula:




V = πr2h, where r is the radius of the base of the



cylinder and h is the height of the cylinder.  If a cylinder



with a base radius of 2.1 cm has a volume of 36 cm3,





what is the height of the cylinder?











































(2 marks)
Question 4 (M6.1



6 marks)

a)
Find the unknowns in each of the following right-angled triangles:





i)
























ii)























iii)

















































































(1,1,2)



b)

An aircraft flies from town A  96 km due east to town B,
and then 48 km due south


to town C.  How far apart are towns A and C?
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oooooOOOooooo
	Mathematics                              End Term 1

                                                             40 mins

35 marks                                                2-4-08




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.2, N5.3, N6.2, N6.3



10 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


7.9









ii)


6.07









iii)


2.7










iv)

7.2 ÷ 4









+
3.4
 










−
1.74













x0.3















v)

–5 – –1






vii)

3x−6









viii)

−15÷5

















b)

Copy and complete the following table.  Place a tick in the appropriate column or columns




in which each number belongs.

	
	Number
	Natural number
	Integer
	Rational number
	Irrational number

	i)
	−9
	
	
	
	

	ii)
	¼
	
	
	
	

	iii)
	√5
	
	
	
	


Question 2 (N5.1, N5.3, N6.1, N DB6.3



8 marks - 1 each)

a)

Add GST (10%) to the price of a set of 2.2 speakers @ $98.10

b)

What is the new price of a $352 spray unit discounted by 15%?

c)

Find the simple interest charged: $2 800 at 6.1% pa for 5 years

d)

$23 600 is invested at 7.8% pa compounded yearly.  What will be




the principal after 6 years (round to the nearest dollar)?

e)

Simplify and express in index form:





i)
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iv)
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Question 3 (PA6.2, PA6.1



11 marks)

a)

Simplify the following expressions:





i)

7p − 9p







ii)

3 x −6s







iii)

−2 x −8k





  iv)

27vw ÷ −9w






(1 each)
b)

Expand, and simplify if possible, each of the following:





i)

5(b + 7)























ii)

−3b(5 − 3d)

























(1 each)
c)

Solve each of the following equations:





i)

5a + 3 = 17









ii)

(g – 3) ÷ 4 = 5






 iii)

4(x – 2) + x 
= 7







(1 each)

d)
The volume of a cylinder, V, is given by the formula:




V = πr2h, where r is the radius of the base of the



cylinder and h is the height of the cylinder.  If a cylinder



with a base radius of 7.9 cm has a volume of 90 cm3,





what is the height of the cylinder?











































(2 marks)
Question 4 (M6.1



6 marks)

a)
Find the unknowns in each of the following right-angled triangles:





i)
























ii)























iii)

















































































(1,1,2)



b)

An aircraft flies from town A  83 km due south to town B,
and then 75 km due west


to town C.  How far apart are towns A and C?
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